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Short answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  List (but do not discuss) the advantages of using transferable put rights to repurchase shares relative to a tender offer.
No wealth redistribution, no oversubscription problem, tax gain relative to tender offer

2.  Assume that Kerry’s first act as president is to repeal the reduced tax rate on dividends.  As a result, your tax rate on dividends rises to 25% rather than the current 15%.  However, he leaves the capital gains tax rate at 15%.  Assume also that the 100,000 shares of Exxon-Mobil you bought for $35 are now trading for $45 per share.  Finally, assume that Exxon-Mobil pays a dividend of $0.27 per share.  How much would you save in taxes if Exxon-Mobil were to repurchase shares (via a tender offer) rather than pay a dividend?  Assume that Exxon-Mobil offers to repurchase shares at $60 per share and that you receive the same amount of cash from Exxon-Mobil with the repurchase that you would have with dividends.
Taxes (dividend) = .25(.27)(100,000) = $6750

Taxes (repurchase) = 
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Tax savings = $6750 – $1687.50 = $5062.50

3.  According to the clientele theory, what kinds of investors purchase what kinds of stocks?
High tax bracket own low-dividend stocks, low tax bracket own high-dividend stocks

4.  List (but do not discuss) one assumption that Miller and Modigliani made when they showed that stockholders should be indifferent to whether or not a firm pays dividends.
One of:  1)  perfect markets (no taxes, no transaction costs, no dominant investors), homogenous expecations, investment optimally fixed, any surplus cash has been paid out to stockholders.
5.  Based on Miller and Modigliani’s analysis, there are 3 basic ways we can show that stockholders should be indifferent to whether or not a firm pays dividends.  What are these 3 ways to show that stockholders are indifferent to dividend policy?
1)  wealth unchanged, 2) can undo dividend by using cash received to purchase shares of firm, 3) can create own dividend by selling shares.
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Problems/Essays

1.  Regional phone company, Verizon Communications, has a small group that has written some simple games for the phones used by its wireless customers.  Based on the positive feedback from its customers, Verizon has decided to expand its software division so that it will produce games for phones, PDAs, game systems like the PS2, and for the PC.  It estimates that it will cost $3,000,000 today to build facilities to house its new software division.  While this division will generate no revenues while its first new games are being developed, the division will incur expenses of $600,000 per month for the next 23 months to pay its software engineers.  It then estimates that the division will generate its first net cash flow of $150,000 per month beginning 2 years from today.  Monthly cash flows would be expected to grow by 1% per month through 10 years from today.  Verizon’s beta is 0.9, the average beta for firms in the software industry is 0.6, and the average beta for game systems (Microsoft, Sony, and Nintendo) is 1.3.  The market risk premium is 6% and the return on T-bills is 1%.  What is the impact of this new venture on the value of Verizon’s assets?
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2.  SBC Communications has also been considering building facilities for a new software development group at a cost of $4,500,000.  SBC Communications has estimated that the life of the project is 10 years and that the net present value of this venture is -$500,000.  SBC planned to fund the new facility with $2,500,000 of internal cash, by issuing debt that matures in 30 years for $3,000,000, and by issuing common stock.  When SBC calculated the project’s NPV, they did not consider the possibility of selling the facility if sales failed to materialize.  In an attempt to address this oversight, SBC Communications now estimates that if sales do not live up to expectations, it can sell its new facility to Ubisoft for $2,500,000 any time over the next 4 years.  The standard deviation of returns on the new facility is estimated to be 45%.  This is lower than the standard deviation of returns on SBC’s existing assets of 57% and lower than the standard deviation of returns on firms in the game system industry of 62%.  However, it is higher than the standard deviation of existing firms in the software industry of 34%.  The APR (assuming continuous compounding) on Treasuries varies by maturity as follows:  1-month = 1.17%, 2-years = 2.57; 4-years = 3.29; 10-years = 4.46; 30-years = 5.21%.  What impact would including the possibility of selling the facility have on SBC’s decision?  (Calculation required).
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Doesn’t change decision….should still be rejected.
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3.  Based on the following information (June to June returns), what is your best estimate of the beta for Bank of America?  Briefly explain whether or not your answer makes economic sense and why.


Return on:  

Year
Bank of America
S&P500 
Treasuries
2004
11%
17%
1.3%

2003
16%
-1%
1.1%

2002
21%
-19%
1.7%

2001
46%
-15%
3.6%
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No => a bank would likely move with economy and would thus have a positive beta.

4.  Significant differences exist between the information available to the managers of a firm and to the stockholders of the firm.  
a.  Explain how these differences create the potential for conflicts of interest between a firm’s stockholders and managers.

b.  Discuss actions by the management that help to reduce the difference that exists between the information held by stockholders and managers.

a.  
1)  Stockholders will not be able to know exactly how hard management is working
=> conflict exists because managers will typically want to work less than is optimal for stockholders.

2)  Stockholders will not be able to know about all of the perks that managers set up for selves
=> conflict exists because managers will typically want more perks than is optimal for stockholders.

3)  Stockholders will not understand the purpose of investments as well as managers do

=> conflict exists because managers will want to reduce company specific risk through new investments while stockholders are indifferent.

=> conflict exists because managers will want to pursue growth even if it is not in stockholder’s interest.

b.  
1)  management prepares and releases financial statements

2)  management sets dividends which reveal management’s optimism or pessimism about the future.

3)  issue securities => exposes management to external monitoring
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5.  The future of any firm is uncertain.  Such uncertainty can lead a firm into bankruptcy if it finds it does not have sufficient cash flow to service its debt.  However, evidence from the financial markets seems to indicate that the cost of going bankrupt in the United States is small.  Given this low cost of bankruptcy, why does the uncertainty of the future lead firms to issue less debt than they would if they could perfectly predict the future?

1)  interest is only tax deductible if have sufficient income to deduct the interest from
=> the uncertainty of future income reduces the benefit of debt since the tax shield is not certain

2)  the possibility of being unable to meet future debt payments creates the possibility of a loss of confidence in firm.
=> increased debt creates the potential for lost sales, higher credit costs, loss of key employees, loss of supplier credit

3)  the uncertainty of future decisions by the firm creates the potential for decisions that benefit stockholders at the expense of bondholders
=> makes it increasingly expensive to issue debt as bondholders as bondholders attempt to protect themselves
=> more restrictions, more likely that debt convertible, higher interest rates
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